Gearwheel Maarten van Gelder = 15988 Aug

One gearwhes| s constructed from several segments. One sheet of paper Eer msglment.
The ments are put together by slitting the |ast tooth of each segment in the fir
taath of the next segrment. By this overlap you loose teeth, but it will fix the geanvheel,
Divide the paper harizortally and wertically in 8, 16, 32 or 24. The number ot teeth

er segment 15 one less than half this division: so dividing in 16 gives 7 teeth
an:nr‘n each segment one woth is hidden in the next segrent).
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*Crease line through the center of the paper

1 Colared si7e up. Precrease: divide the paper horizontally and wertically in 8, 16, 32
ar 24. Then make vally and mauntain folds as indicated.
Far the dotted lines yau may make mountain or valley folds as you please.

2 Side view of afolded segment. The dotted lines show where the (hidden) folds are,
The teeth are at the right: the left side becomes the center of the gearwheeal:
the {in the drawing) upper and lower side are the sides of the gearwheel.
Twa segments are coupled by slitting the upper tooth of ane segment in the lower
taath of the next segment. All folds of these two teeth should comncice,
Clsing the geamwhesel (the [ast overlap) s the most difficult action!



In the diagram the mountan and valkey folds are indicated. _ _
To get a fice running set of gearwheels varying in size you need 10 experiment with the

num ber of segments,
The large wheel in this set has B segments, that are divided in 16 x 16. S0 the wotal

amaount of teeth is B*{16/2-1) = 42
The real et | made has a motar driving the small wheel so the 1otal setis maving

COntiNUOUShy.



